

Office of the County Engineer

County of Gloucester

Resurfacing and Safety Improvements to Fries Mill Road (CR655) between Delsea Drive (SR47) and Clayton-Williamstown Road (CR610) in the Township of Franklin and the Borough of Clayton

Engineering Project #17-05FA

Bid Date: Wednesday, June 1, 2022, 10:00 am

SUMMARY OF BIDS



SPECIFICATION NO. 17-05FA

Item No.	Description	Approx. Quantity	Unit	Unit Price	Amount
1	Mobilization	1	L.S.	\$329,950.00	\$329,950.00
2	Clearing Site	1	L.S.	\$50,000.00	\$50,000.00
3	Construction Layout	1	Dollar	\$10,000.00	\$10,000.00
4	Excavation, Test Pit	20	C.Y.	\$450.00	\$9,000.00
5	Excavation, Unclassified	200	C.Y.	\$40.00	\$8,000.00
6	HMA Milling, 3" or less	81,000	S.Y.	\$3.00	\$243,000.00
7	Removal of Pavement	200	S.Y.	\$15.00	\$3,000.00
8	Dense-Graded Aggregate Base Course, 6" thick	1,000	S.Y.	\$7.00	\$7,000.00
9	Hot Mix Asphalt 19M64 Base Course, 6" thick	330	Ton	\$85.00	\$28,050.00
10	Tack Coat	12,200	Gal.	\$0.01	\$122.00
11	NO ITEM	-	-		\$0.00
12	Hot Mix Asphalt 12.5ME Surface Course, 2.5" thick	12,350	Ton	\$120.00	\$1,482,000.00
13	Hot Mix Asphalt Driveway, 2" thick	1,850	S.Y.	\$55.00	\$101,750.00
14	9"x18" Concrete Vertical Curb	2,425	L.F.	\$42.00	\$101,850.00
15	9"x18" Concrete Vertical Curb and Gutter	100	L.F.	\$95.00	\$9,500.00
16	Concrete Driveway, Reinforced, 6" thick	120	S.Y.	\$150.00	\$18,000.00

SUMMARY OF BIDS



SPECIFICATION NO. 17-05FA

bidder 1 of 1
South State, Inc.
202 Reeves Road
PO Box 68
Bridgeton, NJ 08302
P.856-451-5300 F.856-455-3461
Chester J. Ottlinger, Jr., President
bbryan@southstateinc.com

Item No.	Description	Approx. Quantity	Unit	Unit Price	Amount
17	Concrete Sidewalk, 4" thick	100	S.Y.	\$98.00	\$9,800.00
18	Concrete Driveway, Reinforced, 8" thick	25	S.Y.	\$160.00	\$4,000.00
19	Detectable Warning Surface	8	S.Y.	\$200.00	\$1,600.00
20	Bicycle Safe Grate	12	Unit	\$400.00	\$4,800.00
21	Curb Piece	13	Unit	\$400.00	\$5,200.00
22	Reset Existing Casting	11	Unit	\$500.00	\$5,500.00
23	Reset Water Valve Box	100	Unit	\$0.01	\$1.00
24	Reset Gas Valve Box	100	Unit	\$0.01	\$1.00
25	18" Reinforced Concrete Pipe, Class IV	220	L.F.	\$250.00	\$55,000.00
26	18" Reinforced Concrete Pipe, Class IV, perforated	2,015	L.F.	\$250.00	\$503,750.00
27	Borrow Excavation, Selected Material	250	C.Y.	\$50.00	\$12,500.00
28	Turf Repair Strip	38,750	L.F.	\$0.10	\$3,875.00
29	Topsoil Spreading, 4" thick	250	S.Y.	\$6.00	\$1,500.00
30	Fertilizing and Seeding, Type A-3	250	S.Y.	\$2.00	\$500.00
31	Straw Mulching	250	S.Y.	\$0.01	\$2.50
32	Traffic Stripes, 4"	32,000	L.F.	\$0.39	\$12,480.00
33	Traffic Marking Lines, 24"	1,075	L.F.	\$5.55	\$5,966.25
34	Traffic Marking Symbols	725	S.F.	\$23.00	\$16,675.00
35	Traffic Stripes, 8"	40,000	L.F.	\$0.70	\$28,000.00
36	RPM, Mono-Directional, White Lens	60	Unit	\$29.00	\$1,740.00
37	RPM, Bi-Directional, Blue Lens	20	Unit	\$29.00	\$580.00
38	RPM, Bi-Directional, Amber Lens	300	Unit	\$29.00	\$8,700.00
39	Regulatory and Warning Sign	710	S.F.	\$44.00	\$31,240.00

SUMMARY OF BIDS



bidder 1 of 1
 South State, Inc.
 202 Reeves Road
 PO Box 68
 Bridgeton, NJ 08302
 P 856-451-5300 F 856-455-3461
 Chester J. Ottinger, Jr., President
 bbryan@southstateinc.com

SPECIFICATION NO. 17-05FA

Item No.	Description	Approx. Quantity	Unit	Unit Price	Amount
40	Reflective U-Post Insert	25	Unit	\$25.00	\$625.00
41	Construction Signs	400	S.F.	\$18.00	\$7,200.00
42	Construction Identification Sign, 4'x8'	1	Unit	\$800.00	\$800.00
43	Portable Variable Message Sign	2	Unit	\$5,000.00	\$10,000.00
44	Flashing Arrow Board, 4'x8'	2	Unit	\$100.00	\$200.00
45	Traffic Control Trucks with Mounted Crash Cushion	1	Unit	\$10,000.00	\$10,000.00
46	Drum	200	Unit	\$0.01	\$2.00
47	Traffic Cone	200	Unit	\$0.01	\$2.00
48	Traffic Director, Flagger	300	Hour	\$70.00	\$21,000.00
49	Fuel Price Adjustment	1	Dollar	\$35.000.00	\$35,000.00
50	Asphalt Price Adjustment	1	Dollar	\$55,000.00	\$55,000.00
51	Controlled Low Strength Material	400	C.Y.	\$200.00	\$80,000.00
52	Silt Fence	300	L.F.	\$2.00	\$600.00
53	Haybale	25	Unit	\$10.00	\$250.00
54	Inlet Filter, Type 2, 2'x4'	13	Unit	\$120.00	\$1,560.00
55	Inlet Filter, Type 2, 4'x4'	35	Unit	\$150.00	\$5,250.00
56	Cleaning Existing Pipe, 12" to 24" Diameter	200	L.F.	\$15.00	\$3,000.00
57	Cleaning Drainage Structures	5	Unit	\$350.00	\$1,750.00
58	Hot Mix Asphalt Leveling Course, Variable Thickness	525	Ton	\$125.00	\$65,625.00
59	Set Inlet Type E, Casting	30	Unit	\$100.00	\$3,000.00

SUMMARY OF BIDS



bidder 1 of 1
South State, Inc.
202 Reeves Road
PO Box 68
Bridgeton, NJ 08302
P 856-451-5300 F 856-455-3461
Chester J. Ottinger, Jr., President
bbryan@southstateinc.com

SPECIFICATION NO. 17-05FA		Approx. Quantity	Unit	Unit Price	Amount
60	Inlet, Type B	2	Unit	\$4,000.00	\$8,000.00
61	Set Inlet Type B, Casting	2	Unit	\$2,000.00	\$4,000.00
62	Inlet, Type E (Modified)	30	Unit	\$5,000.00	\$150,000.00
63	Rip-Rap Stone Slope Protection, 12" thick (D50=6")	80	S.Y.	\$80.00	\$6,400.00
64	Borrow Topsoil	30	C.Y.	\$50.00	\$1,500.00
			Total Bid		\$3,585,396.75

Vincent M. Voltagno
Vincent M. Voltagno, P.E.
Gloucester County Engineer

6-2-22
date